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Vhi %Vhi %Vhi %Vhi %Vhi % [k.M ̂v* esa vkB vfry?kwŸkjh iz'u gSa] ftUgsa gy djuk vfuok;Z gSA [k.M
^c* esa y?kwŸkjh ç'u ,oa [k.M ̂ l* esa nh?kZ mŸkjh ç'u gSaA [k.M ̂ v* dks
lcls igys gy djsaA

Note : Section 'A', containing 08 very short-answer-type questions, is compulsory.
Section 'B' consists of short-answer-type questions and Section 'C'
consists of long-answer-type questions. Section 'A' has to be solved first.

Section - 'A'

fuEukafdr vfry?kwŸkjh ç'uksa ds mŸkj ,d ;k nks okD;ksa esa nsaA
Answer the following very short-answer-type questions in one or two
sentences.        (1x08=08)

ç'u 1- VII  A oxZ ds rRoksa dks c<+rs gq;s bysDVªku ca/kqrk ds Øe esa fyf[k;sA
Write VII  A group element according to increasing order of electron
affinity.

ç'u 2- [ ] 5 13 , 4Ar d s  bysDVªkfud foU;kl okys rRo dk D;k uke gS\

Write the name of the element with electronic configuration 

[ ] 5 13 , 4Ar d s

.

ç'u 3- xzsQkbV esa C dh ladj.k voLFkk D;k gS\
What is the hybridization state of C in graphite?
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OR

vkf.od d{kd o ijek.oh; d{kd rFkk ca/kh o izfrca/kh vkf.od d{kd esa
vUrj Li"V dhft;sA
Differentiate between  atomic orbitals and molecular orbitals as well as
bonding and antibonding molecular orbitals.

ç'u 3- LVkWbfd;ksesfVªd fcanq nks"k dks izdkjksa lfgr le>kb;sA
Explain stoichometric point defect and its types.

OR

/kkfRod ca/k dks le>kus ds fy;s ^^cSaM fl)kar^^ dk o.kZu dhft;sA
Describe  Band theory for explaining metallic bond.

ç'u 4- yhfFk;e ,oa eSXuhf'k;e ds e/; fod.kZ lac/k le>kb;sA
Explain diagonal relationship between lithium and magnesium.

OR

6XeF

 ;kSfxd ds cukus dh nks fof/k;k¡] xq.k o lajpuk fyf[k;sA

Write any two methods of preparation, properties of  
6XeF and write its

structure.
ç'u 5- O;frdkjh ewyd D;k gS\ vkDlsysV ,oa cksjsV dk ijh{k.k rFkk fu"dklu

le>kb;sA
What are interfering radicals? Explain the test and removal methods for
oxalate and borate.

OR

vkHkklh gsykstu ;kSfxdkas ij fVIi.kh fyf[k;sA
Write note on Pseudo halogen compounds.

---x---

http://www.hyvonline.com

http://www.hyvonline.com


Code No. : S-155(2) (3)

ç'u 4-

3CIF

 v.kq dh T;kfefr D;k gS\

Which geometry is present in 

3CIF

 molecule?

ç'u 5- F-dsanz fdls dgrs gSa\
Define F-Center.

ç'u 6- mi-lgla;ksth la[;k 3 ds fy;s lhekUr f=T;k vuqikr D;k gS\
What is the limiting radius ratio for co-ordination no. 3?

ç'u 7- ik;jksflfydsV dk ,d mnkgj.k nhft;sA
Give an example of  Pyrosilicate.

ç'u 8- lokZf/kd ladqyu izo`fÙk fdl {kkjh; e`nk /kkrq esa gksrh gS\
Which alkaline earth metal has maximum complexion tendency?

Section - 'B'

fuEukafdr y?kq mŸkjh; ç'uksa ds mŸkj 150&200 'kCn lhek esa nsa
Answer the following short-answer-type questions with word
limit 150-200                                                                                               (2x5=10)

ç'u 1- d{kdksa esa byssDVªkWu Hkjus dk Øfed Øe le>kb;sA
Explain the order in which the orbitals are gradually filled in by the electrons.

OR

ik¡fyax ds fo|qr _.kkRedrk Ldsy dks le>kb;sA
Explain Pauling's electronegativity scale.

ç'u 2-

3BH

f=dks.kh; leryh; gS fdarq 

3NH

fijkfeMh;] D;ksa\

3BH

 is trigonal planar but 

3NH

 is pyramidal, why?

OR

O-ukbVªksQhukWy dh ok"i'khyrk p-ukbVªksQhukWy ls vf/kd gS] D;ksa\
O-nitrophenol is more volatile than p-nitrophenol,why?

ç'u 3-

4MgSO

ty esa vYi ?kqyu'khy gS fdarq 

4BaSO

ty esa v?kqyu'khy gSA

D;ksa\

Why 

4MgSO

is fairly soluble in water but 

4BaSO

 is insoluble in water.

OR

2CaF

dh lajpuk le>kb;sA

Explain the structure of  

2CaF

 molecule.

ç'u 4-

2Ca +

o 

2Mg +

vk;uksa ds tSfodh; dk;Z fyf[k;sA

Write biological function of 

2Ca +

and 

2Mg +

ions.

OR

vfØ; xSl dsoy ¶yksjhu o vkDlhtu ds lkFk ca/k cukrs gSa] D;ksa\
Why do noble gases combine to form bond with only fluorine and oxygen?

ç'u 5- Qqysjhu ij laf{kIr fVIi.kh fyf[k;sA
Write short notes on Fullerene.

OR

cksjkthu csathu dh rqyuk esa vf/kd fØ;k'khy D;ksa gS\
Why is Borazine more reactive than Benzene?

Section - 'C'

fuEukafdr nh?kZ mŸkjh; ç'uksa ds mŸkj 300&350 'kCn lhek esa nsa
Answer the following long-answer-type questions with word
limit 300-350                                                                              (3x5=15)

ç'u 1- izHkkoh ukfHkdh; vkos'k dks le>kb;s rFkk 

σ

ds x.kuk ds fy, LysVj dk
fu;e fyf[k;sA
Explain effective nuclear charge and write Slater's Rule for
calculating 

σ

.

OR

bysDVªkWu ca/kqrk ls D;k le>rs gks\ bldh x.kuk dh fdlh ,d fof/k dk
o.kZu dhft;sA
What is meant by electron affinity? Describe any one method for its
calculation.

ç'u 2-

2
2O −

v.kq dh vkf.od d{kd vkjs[k [khafp;s o pqcadh; xq.k fyf[k;sA

Draw molecular orbital diagram of 

2
2O −

 and write magnetic behaviour.
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